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Do not open this bookiet until you are toid to do so.
Follow all instructions carefully.
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Booklet A (20 marksj_ .

Answer Sheet.

1. Whatis the missing number in the box?
1090 901 = 1 000 000 + [:] + 1

(1) 909
(2) 9090
(3) 90900

(4) 1090 900

2. 2 ones, 2 tenths and 2 thousandths js the same as ;
_—

{1y 2.004
2y 2022
{3y 2202
4y 2222
3. What fraction of the figure is shaded?
2
1 =
M 3
1
2 -
2 a
3
3 z
(3} y
1
4 ol
(4) 2
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005+ +1=
(1) 08

(2) 1.125
(3) 18

(4) 225

Train A'is travelling from Town X to Town Y which is 45 km away. At what

speed must Train A travel at to reach Town Y in 30 min?

(1) 15 km/h
(2) 22.5km/h
(3) 90 km/h

(4) 135 knvh

7
Express > as a percentage.

(1) 7%

(2) 28%
(3)  35%
4)  49%

Ali exchanges 16 coins for a $5 note. He has only 2 types of cains. 10 of the

coins are of the same value. What are the values of each iype of coins?

(1)  10¢ and 20¢

(2) 10¢ and 50¢ _
{(3) 20¢ and 50¢

(4) 50¢ and $1
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10.

What is the mass of. l : ?
<o | ] )
1

(1) 065kg .
(2) 0.7 kg
(3) 1.15kg
(4)  50.65kg

Which of the following can be tessellated?

EZRe

A B

m A
©) B
A C
A D

A square has a pe'rimeter of 36 x cm. What is the Ien_gth of each of side?

(1) 4xcm*
{2} 6x cm
3) 9xcm
4y 18x cm
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11.

12.

13.

if 3 m of ribbon cost $9, how much does 5.25 m of ribbon cost?

(1)
(2)
(3)
4)

$15.75
$16.5
$45
$47.25

After cutting 5 m from Rope A and 2-m from Rope B, the fength of Rope Ais

j'lz_ as long as Rope B. If the two ropes were of the same length at first, find the

o'riginai fength of each rope.

(t)
(2)
(3)
(4)

5m
6 m
8m
10 m

If the area of the triangle is 50% that of the area of the rectangle, what is the

length of the rectangle?

(1)
(2)
)
(4)

B} 6 cm
12 cm
36 cm
60 cm
72 cm
- Page 4 of 15
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The pie chart shows the types of books avaiiable in a library. AB is a straight
line. The ratio of Tamil Language storybooks to Malay Language story books is
2 : 3. if there are 500 Chinese Language and English Language story books,

how many Malay storybooks are there in the library?

Tamil
Language

Malay
lLanguage

(1) 200
(2) 300
(3) 500
{4y 1000
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15. The figure shows the net of a dice.

The dice is placed on the table with

face is facing upwards?

(1)

(2)

3)

(4)

. ]
-

facing the bottom. Which
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Booklet B {80 marks)

Questions 16 to 25 carry 1 mark each. Questions 26 to 35 carry 2 marks each.

For each question, write your answer in the space provided.

Give your answers in the units stated.

16. Fill in the boxes with the correct operation symbol “-“,

(0.02

0.08 )

e [

80

310

“

i7.  Arrange the following decimals in ascending order.

1.01,

1.1, 1.001, 0.101

Ans:

18. 9 pizzas are shared equally among some girls. How many girls are there if

each girt gets % of the pizza ?

Ans:

. girls

Ui ot wirite

i fhis coturmin
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19.

Jillian is 8 years 5 months old. Her brother is 2?31 years older than her.
How old is her brother?
Ans: years __wonths
20.  An equal amount of water is poured into two containers C and D. If Container

Cis % filled with water, what is the height of the water level in Container D ?

Container C

Container D

100 cm?

Ans:

cm

0 not wiote

in this colurnn
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21.  Team SCGS has 4 girls who run a total of 240 rounds. If 3 girls run an

[ oo 3y write
i s cotumn

average of 56 rounds, how many rounds must the 4" girl run for the team ?

Ans: rounds

22.  Meifeng completed her work at 1.05pm. She took 2 h 24 min to complete
her work. What time did Meifeng start her work?

Ans:

Page 9 of 15
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23.

A 200 m long MRT train took 20 min to pass through a tunnel completely.
If the MRT train travelled at an average speed of 120 m/min, find the length

of the tunnel.

Ans: m

24,

Shade 2 squares to make the figure betow Symrnetricél_

25.

Mary had 300 cards She gave 120 cards to Su -ann and sold 60% of the

remainder. How many cards did Mary sell ?

Ans: cards

e T

Sl

i s coudimn
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Questions 26 to 35 carry 2 marks each. Show your working clearly in the

space below each question and write your answers in the spaces provided.

For questions which require units, give your answers in the units stated.

26. The total cost of 5 blouses and 2 skirts is $181. A blouse costs $25 more

than a skirt. What is the total cost of a biouse and a skirt ?

Ans: $

27. The ratio of the number of cookies Alice has to the number that Fiong has is
3 : 8. After Fiona has given 12 cookies away, she stiif has 18 cookigs more

than Alice. How many cookies does Alice have ?

Ans: cookie'/g -

28. The figure below is not drawn to scale. O is the centre of the circle. Wthe

. area of the square shown is 49 cm?, find the argg of the shaded part ?

(Take r = %)

Ans: cm”
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Water is flowing from_Tap A and Tap B at a ra'te of 2 [/min and 7 Hmin

29
respectively. Both Tap A and Tap B are turned on at the same time.
How long does it take for both taps to fill up the entire tank ?
( 1/ = 1000cm®)
Tap A Tap B
5 o+
2 {/min 7 //min
F 3
30cm |
A 4
3600 cm?
Ans: min
30. Inthe figure, DEFG is a rectangle. If the total length of EH and Lfis equal to

the length of HL, find the shaded area of the figure below?

E H . L, F

10 cm

Y

A

D 12 cm

- Ans: cm
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31.  The graph below shows the amount of water Doreen used in 4 months.

Lifres
200 r
150 4 ==
. .
100 +—{=— =
50
o + ; Y : .
January February March April
- Cost of water usage
Litres Amount
First 50 litres $10
Subsequent 5 litres $3

How much did Doreen pay for water usage in March 7

Ans: $

Ui ot write
in his column
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In the figure belov':r_, a {_ectangu!ar piece of paper is folded at one of its
corners E as shown. Find £ x.

Ans: Zx =

33.

At 10 00, a car left Town A for Town B travelling at a speed of 80 km/h_ At the

same time, ancther car left Town B for Town' A at a speed of 100 km/h. The |

distance between the 2 towns was 540 km. At what time did the cars pass

each other ? (Express the time using the 24-hour clock)

Ans:

G nof wite
in lhis column
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34. 10% of the balloons are red. The number of red balloons is Sl the number Qi

blue balloons. The remaining of the balloons are green. If there are 80 greern |

balloons, how many balloons are there altogether ?

Ans: balloons

33.  Study the diagram below carefully.

How many points are needed to divide a line into 25 equal parts 7

F—t—— —e—e— |86 o |

! 55 not write
L s column

Figure 1 Figure 2 Figure 3
No. of points _ 1 2 3
No. of equal parts 2 3 4
- ~.—___7.
Ans: points l'/ /
4 I
- Page t50of 15
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Name : { ) Date :
Ciass : Primary 68Y/C/G/SE/P Duration : 2 h 15 min

Write your answers to questions 36 to 48 in the spaces provided. For each
question, show your working clearly in the space provided. The number of marks
avaitable is shown in brackets at the end of each question or part-question.

36. The graph below shows how John spent his pocket money for five days.
Study it carefully and answer the questions.

Savings
Stationery

Transpori:

Food

Amount in dollars

(a) What is thé John's daily expenditure?

(b} What percentage of the total sum does he spend on food? '

Ans: (a) (1)
(b) (2)

Page 10f 12
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37.

38.

Rachel is x years old now. Her mother is 36 years older than Rachel. Her
father's age is the sum of Rachel's age and her mother's age. How old is
Rachel's father?

Ans: {(3)

Mother bought a total of 12 books and files for $33. She bought 2 more
books than files. A book costs $3 more than a file. How much mere did
she pay for the files? '

Ans: (3)

Page 2 of 12
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39. In the figure, AB // CD. EF and GH are straight lines. 7
Find the values of Zx and Zy. e
E

A B
c D

Ans: £x (2)

2y {1)
3
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40.

The number of girls who registered for art class was 20% of the number of

boys. On the actual day, 3 more girls and 3 more boys turned up for the

1 . ,
class. As a result, there were 3 as many girls as boys at the art class.

What was the tota! number of children who came to art class?

ANS -

i} not write
In iz aolurmn
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41.  Inthe figure (not drawn to scale), ABCD is a rhombus, FHJ is an

equilateral triangle and EFGD is a trapezium with ED parailel to FG.

ABFH,; JFG-and €86 are straight lines. Find £ x.
ADF T, HFG g

Ans:

(3)

Do net wiite
iee gis column
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42.

In the diagram below, 75% of square Z is not shaded. The ratio of the area
of square X to the area of square Y is 9:4. The ratio of the area of square Y to the

area of square Zis 4:1.
{a) What is the ratio of square X to the area of square Z?
(D) Find the ratio of the unshaded area of square Y to the unshaded area of

square Z.

Ans: (a} (2)

by _ (2

06 Bl wile
In Gws cndumin
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There were 9 chairs in each row. 8 rows of chairs were rearranged,
equally spaced, to form the perimeter of a square. There were same
numbers of chairs on each side of lhe square. How many chairs were
there on each side of the square?

Ans: ‘ (4)

Do 6ol wrile
In this column
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44.

Andrew left Town X for Town Y which was 500 km apart. He travelled at

an average speed of 90 km/h for % of the journey. He then increased his

speed by 30 km/h for the rest of the journey and reached Town Y at 2 pm.
Richard also left Town X for Town Y at the same time as Andrew and he

drove at an average speed of 100 km/h for the whole journey.

a) What time did Andrew leave Town X?

b) How far apart were they at 1pm?

Ans: (a) (2)

(b) 2

Page 8 of 12
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45.

Nelly has 1000 beads. She puts them in a box with 40 holes. She puts
1 bead in the first hole, 2 beads in the second hole, 3 beads in the third

hole and so on until all the 40 holes are filled with beads. How many

beads are left when she h4s filled ali the holes?

-~ Ans: , G

i oAt wiite
P an this cotlumin
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46.

The figure is formed by 4 small identical circles in a big circle. The big
circle has a diameter of 28 cm.

{a) Find the area of the unshaded part.

(b) Find the perimeter of the unshaded part marked X. (Take r :2'73)

Ans: (a)

(b)_

(2)
(3) 5

Page 10°0f 12
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47.

Mary had some $5 and $10 notes in her wallet. There was a total
ol 60 pieces of notes at first. She used half of the number of $5 notes and

received another twelve $10 notes from her mother. After that, the

number of $10 notes she had was % of the remaining number of $5 notes

she had left. How much money did she have at first?

Ans:

&)

Page 11 of 12
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48.

At a farm, 40% of the animals are cows, 90% of the remainder are sheep
and the rest are ducks. There are 56 more sheep than cows. After some
cows died, 20% of the remaining animals at the farm are cows. How many

cowé are there left at the farm?

Ans:

END OF PAPER

Page 12 of 12
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42}ajx
' )

11
1

9

=

b)75%--- 3% of Z isttinshaded. -

Zshd> Va
‘Unshd of Y : unshaded of z
16-1 :4-Yax4 '
15 : 4-1
15 : 3
5 i |
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Number of chairs eft after taklng away 4 corners—>72-4=68
Number 0f'___=falrs in each row withotfthe.4 corners—>68 4=17

a)t|%9§

Ans:a)%am
b)20km T3
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46)a)area of big c1rcle—)22 x14x14= 616cm:

%Nlﬁﬁ-

by

47)8u->60¥12
1u>9; %Otfs .
($5)6u—)%47§ & E??ggi
2u> 185 T
$10—)18
Amt —)54)(

—$270+$6

LN
il

B sy

48)At the farm
Cow~>40%
Sheep—)90 x 6(
100 -
E)Iff—)54°/o-40°/o—-]§§§»/o
14%-->56 sheeps
1% >56:-14=4
Total animals>4x100
Total sheep and ducks>60 x400=240
100
After some cows died,80%are sheep and ducks
80%-->240
10%-->240--8=30
Number of cows left->20%
20%-->30x2=60 page 4
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